agrwdnE

HBOo~NO®

nut.

TRAILBGSS

Towbar Fitting Instructions

To Suit TOYOTA AVALON SEDAN 6/2000-ON

Part Number TT125A
Rating 1300Kg

Ensure all hardware items have been included.

Remove and discard both left and right hand shipping hooks.
Remove spare wheel.

Cut two outer bottom bumper mounting tags as per diagram.
From under vehicle, using hole in forward spare wheel support frame as guide, drill into spare
wheel well a 11mm hole.
Fit spacer tube supplied in between wheel well and support frame to align with hole drilled in step 5.
Lift towbar up into position by feeding driver’s side up over exhaust pipe.
Align holes in towbar angles with shipping hook bolt holes.

Fit four M10x35 1.25 pitch bolts, flat washers and spring washers.

0. From inside wheel well fit 32x32 loose plate and coach bolt to tail assemble. Fit spring washer and

11. Tighten all bolts to torque listing below.
12. Refit spare wheel.

RECOMMENDED ASSEMBLY TORQUE LISTING

Diameter Grade 8.8 Bolt

M6
M8
M10
M12
M14
M16

Nm
9.5
21.7
43.4
77.3
121.0
189.8

THE WORKHORSE OF AUSTRALIA’'STOWBARS

Issue Date 20/08/03

N

~




 TRAILBGSS

Towbar Fitting Instructions
To Suit TOYOTA AVALON SEDAN 6/2000-ON
Part Number TT125A
Rating 1300Kg

1- M10 x 45 COACH BOLT 1.5P
1-M10 SIWASHER
1-M10 x1.5° NUT
1-LOOSE PLATE 32 x6 x3210.5 .

4- M10 x 35 BOLT 1.25P
4- M10 SIWASHER
4- M10 F/WASHER

[ ®*—— 2.M16 x45BOLTS
" 2. M16 S/WASHERS

CUT AND DISARD

\ Page 20f 2 THE WORKHORSE OF AUSTRALIA'STOWBARS | ' Sue Date 20/08/03

N




